Chapter- 8
Georgie’s Treat

WORKSHEET

1) Answer the following questions. (1x4=4)

a) Where did Georgie take rest?

Ans)
eoxHe baxe seak undey the txep-

b) Georgie was looking at something with a longing eye. What was it?

Aris)
(neaxe was \oakind ab comebin® wibhh on

\on ¥ NG ede 1L was the ecaxied xed. LexMes-
c) Where did Georgie and his mother live?
Ans)

o, 3e0X¥PC and hic mot\nppr 1ive ‘n $ag
Vaxeﬁt

d) Spot and write two pairs of rhyming words from the poem.

Ans)
Wth-lie Chaxe—thexe.

2) Reference to context. (1x3=3)

a) ‘Should | save them?’ he asked with a sigh:
i) Who is the speaker?
Ans) __Tho cn QOB%\Q &\ o the o Peakex -
ii) Whom does ‘them’ refer to?
ans) Me. xeBexr o the mMathér

iii) For whom does the speaker want to save?

ans) Thoo SPeakey wend o Gave O h\SmOJG\nea'

3) Unjumble the following to get meaningful words. (1x5=5)
a) Pedrawp- LY affCAC
b) Hedcthat- ‘beamk h akched.
¢) Veaw-WeaV
d) Shrah moxsGln
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4) Make sentences using the following words. (1x3=3)
a) Happiness -
b) Decided -
c) Leaves -

(&) Hoppiness = T Lacngou. e fie. off haffiness
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